F.P

30e 515

ﬁ LHHHHIIHIIIIHIII

STORAGE
GARAGE

EERNRNTE

NITTTTTTTTTT
LU

LU

LELETTTTTTT

HELEEERTTTTT
L
LTHTTTT

UL L]

NEIEN

50" ~—ri

|

|

NI T

Ne——

LU

CIVIC SERVICES

PROPANE |
TANK )

—

P.
16.017

SCHOOL DiVISION

<=

zae

SALT
STORAGE {

Tl

Coo Lr G b Lo

S st ot

i
Wy

BUILDING UTILIMES STREETS &
MAINTENANCE SECTION ROADS
A-BASE
STOCKPILE
SIGN SHED
120' 120 131.18
BLACK DIRT

N =X
1207 ¥

327

F.2
STOCKPI%P:\' Q “ 75

3 A

LEgA L'

Lo ,) PI_AIQQ.@?@
iaﬁc.z.uwvdl

PeoaT o T eeM
Eeoe F‘_buw

DOUGLAS STREET

CIVIC WORKS COMPLEX — SITE PLAN

DESIGNED CITY OF BRANDON
DRAWN _R.65- DEPARTMENT OF ENGINCERING
CHECKED AND OPERATIONS .
[ APPROVED DATE WARCH 25,1997 DWG. NO.i~ REV.
B1115A

HOR.
e
e




\ e LOVELRLU VIEwsz
- %.ss D CEXT_ ;Euzsk_
- foime . |
Basie __g,_,__ S S = N "%z
N

>
2_cfb¢1 - S e "BL"SQ, - .
e e e i e e e _____ _ g _.1.@__?_95 o D___‘\"lcl\l Woee EL> 100 =™y ‘ - B . EX\sT. ¢ pad &
_____ ‘ C— & T a T - e\l S T. 120w B T Lo WAL = 93,@@-—1, _ " - - — - —_'_——F; EL.-5§“ L'+
. : &\F1N\QHED QE—ADE/TQP o £ T=—=e—l—n~|5 ElEeEvaTionN = IQ&'Q§—'-—~1, ) 2 )
—_——— = = = = —— = = = = — — = — — p—— e — = — = — e ——— = (/ST
ls':‘nﬁ " - . - ; . . " : 9.0
Sl - . Lo\,aa»p_ o eng. AP Prex. 7o - Ex:s‘rlwq GEAREE

L-a — T ey A E.—L—S\/&\Tﬂc’v\)

= v ' . _ A~PP&Q Kvmmy '\Qb’f‘c'f . ‘ | I
S (.'Ho 1\\ TﬂibILlLCg 9“'(! é'[JSL.bG. <H owma, EX ‘S'T.sllf@oﬂ_osg:b Egz—:u& Jonte L

’“ii)"f_'&ﬁ-qli; LL___.F_D bL».M;aAo:nz:b '

Vzap fArJ b/SaLT {7'0%:?
Bepg. Ly ORPBRANSaN

THIS DRAWING LS PROPERTY OF
COVER-ALL. BULLDING SYSTEMS: ANY’
REPRODUCTIONIN-WHOLEQREIN.PART -
WITHOUT THEEXPRESSEX WRLTTEN:

- CONSENT OF COVER-ALL.SUILDING




A1
3

LL

[ O Z T FEBPIC:

@

BECKFILL

MATTE 5L

CIVE EL EVATION

PLELTMINKZYCN

. Pwm SED SAND/ A (:rag_.; — DRAWN='§Y:L ;
- - B . -  THIS DRAWING [SIPROPERTY OF - T
g g’w 9. &'1?’7 D -ﬁ- uM bON COVER-ALL SUILDING:SYSTEMS: ANY CHECKEDL A%
: vmouucna»mwum.sazmmp:r R -
SuETramamns GReE = o
- Wk TYP. SIDE !EL&VAT‘IO\! 3




230°-07 0/0 BUILDING
23 BAYS. & 10'-0°

757 ~g7 cJ S0'—0* cJ S
¥ » .
- %
i . - 1
= ONTROL JOINT
: BLOCKOUT FOR S-19 PLAIN DWLS. ’ l
T+—t A Frxé/-s” AM. DOCR @ € OF WALL x 3'-0°
(] & P.S. FRAME GREESE ONE END TYP,
wi & Lﬂ , : ' |
—_ ‘I
IR
S : 18/~0"x18’~0* DURATRACK
8 . O.H. DOOR
Ol 18'-0°x18‘~0° DURATRACK \
ol T /D.H. DOOR EXIT MOUNT
S| @ EXIT MOUNT
X
J
B |

N s ooyt roe— |
s-2/ 3'-0°x6’-8” HM. DOOR
l & P.S. FRAME l
cJ cJ

17'-1

iy s I
FOUNDATION PLAN
SCALE: Mg’ = 1-0°

COVER—-ALL SAND/SALT STORAGE BLDG. — BRANDON

DESIGN 8Y DRAWING BY —— ek 26 SoMONTON ST. ORAWING NO.
W.H. TMK. - Consultants s ”4_95“ "§_°2;83 S_ ‘]
i : isc\SANDSALT STORAGE 111 108 NO. DATE Incorporated | ... Feanaeeonak.com
ProgramFiles\DRAWING. FILES\Misc\ AGE.dwg, 04/17/01 03:54:04 PM, L 01149 APRIL 17, 2001 | W WS Cesdie Svecird .




1’

O

1l

8 4”
v-2pr

TYPICAL BASE PLATE DETAIL
SCALE: 1¥%* = 1'-0*

>rogramnfiles\DRAWING FILES\Misc\SANDSALT STORAGE.dwg, 04/17/01 03:536:14 PM, Ll

COVER ALL BLDG.—\/

e

—

/
/ -34'% A-B

[

BASE PLATE

ANCHOR BOLTS

PER COVER ALL

DETAIL !

. : &

N { \—2-20M TOP CONT.
%" GUESST |

2SMPo CONCRET
TYPE 10

7-1SM LONGIT—_

NS
TR
W— PN\—3-15M HORIZ. EF.
81
COMPACTED
BACKFILL

!

E

7
'\-'CDATING AS SPECIFIED &
T ELsro #sos R EAUAL &
|_—15M @ 247 o/c
g B, GO HOKS

/e

7

’ - '

| =47 PVC WATERSTP —T0. GRANULAR (12 DEEP>
e /— SUPPLIED BY THIS

A CONTRACTOR

7 L — ﬂ%@f

1'-0"

1SM @ 24“ o/c b
TOP & BOT.
TRANSV. x 207

/ 1\ TYPICAL CROSS SECTIDON

S-2/ SCALE Y%’ = 1'-0°

COVER—-ALL SAND/SALT STORAGE BLDG. — BRANDON

DESIGN BY
W.H.

DRAWING BY . .

JOB NO.
01-149

2 — -]

APRIL 17, 2001 R -

26 EDMONTON ST. DRAWING NO.
WINNIPEG, MB.

CANADA, R3C 1P7
PH,: 204—956~2200 S — 2
FAX.: 204—356—1671
E~MAIL: hci@hanuschak.com

Consultants
Incorporated

Hanuschak {




CERTIFICATE OF DESIGN AND MANUFACTURING CONFORMANCE
FOR COVER-ALL BUILDING SYSTEMS

All components of the steei and fabric building system describad below
have baen or wiil be designed and fabricatad in accordance with the
standards and loods listed below

1. DESCRIPTION
AP / Ref Number: GA.3.314/ENG456
Building Typs and Size: )
Intended Use and Occupancy: EJ_ LOW HAZARD INDUSTRIAL SAIT STORAGE
Importancs Factor: 0.8

Site Location:

T

Expasurs Factor, Cw: Q.75

Building Category: 2 (PARTIALLY ENCLOSED)
Applicable Building Code: AMHA 98

Builder's Name and Address: =

Owner's Name and Address:

LOT 3
JAKEN FROM PILAN 2223
BRANOON, MB

Building Legal Address

2. DESIGN STANDARDS Enginser’s
it
Buildings and Mobile Homes Act, Part 4; Structural Oesign, edition dated: 9 s
CAN/CSA-S18.1, Steel Stmuturnl for Buildings adition dated: g
CAN/CSA-SISB Coid Formed Steel Structural Members, edition datad: 2
Other - doted: —
3. MANUFACTURING STANDARDS
(a) Fabrication has been or wilt ba'In accordonce with CAN/CSA-~S18.1 and .
CAN/CSA=5138, as applicabls, -

(b) Wcldl&hol bean or will be parformed In accordance with CSA-W59 and
~3138, as appilcable,
E ; The Manu{uctur-r has been certifled In accordance wuh CSA—WW! for Division 2.1
d) Welders have been certified In accordance with CSA-W.
4, LOADS

g:) Snow, lce and Rain Loads -
round anow load, Sg e 400 (paf
Assocloted Rain lcad, Sr, 418 (psf

—

(b) Wind Load
_reference veloclly pressurs for q I/l
refarance velocity pressure for q 1/30

c) "Wind Load Appilcation s ”

g&& applied as per BMHA Act Part 4, Section =z _/Z
Mélure coefficients s per Supphmnnt to NBC, Commentary on Wind Loads, ,,_7/7
Figures B6 thru B8 and 811 T2

(d) En]rt: quake loads ap per BAMH Act Part 4, Section

5. Engineer

| —Morcel _Regnler ___. , a Professional Englneer ragistared or licensed to practics In the Province

or Territory of , hereby certify that | have reviewed the design and
manufacturing process for the S Bullding System described. | certify that the -

foreqoing statements,

Signature

“d
resl ni

" =/ =7

Name.

Afflliotion %
Date - — -? é =y

* Initial each true statement. Mark N/A If stotement does not apply.

GENERAL

THIS DRAWING INCLUOING INFORMATION HEREON, REMAINS THE PROPERTY
OF COVER~-ALL BUILDINGS. IT IS PROVIDED SOLELY FOR ERECTING THE
BUILDING DESCRIBED IN THE SALES ORDER AND SHALL NOT BE MODIFIED,
REPRODUCED OR USED FOR ANY QTHER PURPOSE WITHOUT PRIOR WRMTEN
APPROVAL OF COVER—-ALL BUILDING SYSTEMS.

THE GENERAL CONTRACTOR AND/OR ERECTOR IS SOLELY RESPONSIBLE FOR
ACCURATE, GOOD QUALITY WORKMANSHIP IN ERECTING THIS BUILD!
CONFORMANCE WITH THIS DRAWING, DEWB REFERENCED IN TH'S DRAWING
AND INDUSTRY STANDARDS PERTAINING TO PROPER ERECTION INCLUDING
THE PROPER USE OF TEMPORARY BRACING.

COVER-ALL BUILDINGS IS NOT RESPONSIBLE FOR ERRORS. OMISSIONS OR
DAMAGES INCURRED IN THE ERECTION OF THE COMPONENTS SHOWN ON
’T)HIS DRA\EWNG 20R FOR THE INSPECTION OF ERECTED COMPONENTS TO

THIS CERTIFICATION AND ENGINEERING SEAL APPLIES ONLY T0 PRODUCTS

~ DESIGNED AND FABRICATED BY COVER-ALL BUILDINGS FOR THE LOADING

CONDITIONS DESIGNATED ON THESE DRAWINGS. CONCRETE FOUNDA

STEEL COMPONENTS BY OTHERS AND ERECTION SUPERVISION ARE NOT THE
ENBGP'?EIgBleES OF COVER-ALL BUILDINGS SYSTEMS OR THE CERTIFYING

ANCHOR BOLTS
MNCHOR BOLT DIMETERS ARE DETERMINED N ACCORDANCE WITH CSA

STANDARD CAN3-518.1 USING Fy = 36 KSi (248 MPa). ANCHOR BOLT
LENGTHS AND LOAD TRANSFER TO THE FOUNDATION ARE TO BE
DETERMINED 8Y OTHERS.

ANCHOR BOLT PRNEC'TIONS aassn ON NO GROUT ARE AS FOLLOWS;
SERIES 2 IN. 1 3/4° MAX. 2 1/2°
SERIES 3 MlN. 2 WX, 3 172
SERIES 4: MIN, 2° WX, 3 1/2°
TAS/S GROUND MOUNT: MIN. 2 1/2° MAX. 3 1/2°

FOUNDATION MUST BE LEVEL, SQUARE AND SMOOTH. ANCHOR BOLTS
MUST BE ACCURATELY PLACED AS SHOWN ON THE DRAWINGS.

FINISHED FLOOR ELEVATIONS AND UNDERSIOE OF BASE PLATE S 100'—0°
(1000.000mm) UNLESS NOTED.

ERECTION

THE ERECTOR MUS\‘ PROVIOE SliE WORKING CONDITIONS AND PRACTICES
ALL SAFETY REGULATIONS, ALL UFTING DEVICES ARE TO

BE SPECIHCM.LY DiSlGNED TO UFT THE VARIOUS BUILDING DOMPONENTS

SUNGS AND SPREADER 8ARS ARE TO BE USED TO PREVENT PERMAM

DEFORMATION OF ALL STRUCTURAL COMPONENTS.

ERECTION SHOULD START AT A BRACED BAY. ERECT AND TEMPORARILY

PURLINS BRACING.
PLUMB AND SQUARE TRUSSES IN ACCORDANCE WITH CAN3-S18.1
ENSURE ALL PURLINS REMAIN PARALLEL.

STRUCTURAL FRAMING MEMBERS ARE CONSIDERED PLUMB, LEVEL, AND
ALIGNED WHEN THE VARWANCE DOES NOT EXCEED 1:300

STRUCTURAL BOLTS
BOLTS N CONNECTIONS NOT SUBJECT T0 TENSION LOADS. OR WHERE
L0oseNg QUE To VERATION OR LOAD FLUCTUATIONS ARE_ NOT_DESicN

CONSIDERATIONS NEED ONLY BE SNUG TIGHTENED, WHICH IS DEFINED AS
THE'E‘_HMNTPMTEXISE WHENM.LPUESJNAJOINTAREINHRM

ALL BOLTS LARGER THAN 1° DIA CONFORM TO ASTM A325,
ALL OTHER Ol BOLTS CONFORM TO SAE GRS OR EQUIVALENT.
ALL BOLTS SHALL BE PLATED / GALVANIZED OR SUNSEAL COATED.

BOLTS IN CONNECTIONS SUBJECT TO TENSION LOAOS REQUIRE PRE
TENSIONING TO MINIMUM TENSION
=VALUES AS SHOWN IN THE TABLE BELOW-

TABLE A gwa % %;4
o | kipe | N
378 18 1
_’% 19 §§:
2 4
S n
174 35"""37 1§ |

STRUCTURAL BOLT TORQUE VALUES
TABLE 8 USTS THE BOLT CLAWP LOADS WITH A SUGGESTED ASSEMBLY TORQUE

1 8
12E
Dia. [Threcds |Tensiie
(nch) | Per ksi
Inch {Min)
3/ 8 20
7/18 4 20
20 |
i/ 9 ggo
1 1/4

MATERIAL SPECIFICATIONS
ROLLED STRUCTURAL SECTIONS CONFORM TO CSA G40.21~44W (JOOVI}
STRUCTURAL PLATE CONFORMS 10 THE FOLLOWING SPECIFICATIGI
PLATES  G40.21 44W  G40.21/ASTM AS72 GR 44 ﬁsoow;
HSS. 64021 50  G40.21/ASTM AS72 GR 50 (350W

COATINGS OF TUBES ARE DONE IN-LINE, HOT-OIPPED GALVANIZED TO A NOMINAL
COATING ZINC WEIGHT OF 0.8 oz/ft (180 g/m ) (1.0mii)

CHROMATE CONVERSION COATING APPUED QVER THE GALVANIZED SURFACE T0
PROVIDE ADDITIONAL CORROSION PROTECTION.

CLEAR ORCANIC POLYMER APPLIED AS THE TOP SURFACE COAT TO RETARD
OXIDATION, ENHANCE SURFACE APPEARANCE AND PROVIDE A PRIMER BASE FOR
SUBSEQUENT MOLTEN ZINC APPLIED TO ALL WELDS.

ALL VIPERSTEEL WITH GATORSHBLDMLLDEMONSWTETHEABMWTOWSTAND
A MINIMUM OF 1000 HOURS OF ACCELERATED SALT FOG TESTING TO THE
CONOITION OF 5 X SURFACE RED RUST, WHEN TSTED IN ACCORDANCE WITH ASTM
8117 STANDARDS.

DIAGONAL BRACE ROD STEEL MINIMUM YIELD STRESS 38 KS| (248 WPa),
U,

ot L B, O MO S

CROSS mav.zs - os/te ™., UN
SWAY CABLES ~ #3/18° TYP. U/N PERPENDICULAR TO THE TOP AND BOTTOM
CHORDS  U/N

STRUCTURAL COMPONENTS OF THE TITAN SERIES ARE AS FOLLOWS;
SERIES 2: 3 1/2° TUBES = 24° C~C USING 1.86" DUMETER WEBS
SERIES 3: 4° TUBES - 32° C~C USING 1.9° DIAMETER WEBS
SERIES 4: 5° TUBES = 42° C~C USING 2.375° DUMETER WEBS

STRUCTZURA;. COMPONENTS OF THE ARCH SERIES ARE AS FOLLOWS;
SAS; 3/8° i
TAS: 2 3/8° TUBES - 12° C~C USING #1° WEB
S: ARCH: 2 7/8° TUBES - 24" C~C USING #1° WEB
LEG: 2 7/8" TUBES ~ 24° C-C USING #1° WEB

FABRIC / LINER NOTES;

EXTERIR FABRIC IS AN INTEGRAL PART OF THE STRUCTURAL SYSTEM, REMOVAL OR
ALTERATION WITHOUT PRIOR AUTHORIZATION IS PROHIBTED. ALL TEARS WUST BE
PATCHED IMMEDIATELY TO AVOID WARRANTY PROBLEMS,

FABRIC SPECIFICATIONS
ALL DURMEAVE 811X MEMBRANES WILL POSSESS THE FOLLONING MNIMUM
SPECIFICATION

BASE TYPE QUBAWEAVE 2 811X POLYETHYLENE
WEAVE: NOMINAL 18 BY ZZpgav‘IOVEN CLEAR HDPE
SCRIN 1800 TAPES
) 83 .x 87 TAP PER ¢
WEIGHT: 1 ounces, J73£ﬂ{ms)°+/- 5%
FINISHED COAT WEIGHT: 2.5 Mits E
SURFACE PROTECTION: MODIFIED LDPE COATING WITH UV PROTECTION
TOTAL THICKNESS: 25 MLS (0.63 mm) ASTM DS168
COLD CRACK: PASS @ MINUS 30 DEGREES C 0522
HYDROSTATIC RESISTANCE: >300 pal (2 g ASTM D751A
GRAB TENSILE: WARP: 325 lbl 1445 N) 05034
WEFT: 450 Ibs ASTM D5034
TONGUE TEAR: WARP: 145 Ibe {848 N ASTM D2261
WEFT: 140 Ibs (822 N ASTM D2261
TRAP TEAR: WARP: 110 ibs {444 ASTM D4533
MULLEN 8l 730 -115? 5057 e) ASTM 03786
o
ACCE'LWTED UV WEATHERING: COLOR - >0% STRAJGTN ASTM G53
RETENTION AFTER 2000 HRS ASTM
CLEAR = > 633

80X STRENGTH
RETENTION AFTER 2000 HRS

DRAWING SCHEDULE REVISIONS

VG ¢ DRAVING TITLE REY.  DATE REY.  DATE REY,  DBATE REY,  DATE
COVERPAGE, 14 APR 01
BASE_PLATE_LAYOUT 4 APR 01
DESICN_ CRITERIA 4 APR OF
BULDING_PROFLE 4 APR 01
BRACING_LATOUT 24 APR 0
FABRIC_OLINLS APR 01
- 1 APR_O1
4 EROWALL ~ GROUNE 14 PR O
] ANOARD DETAILS | 24 APR 01
T 10 [STANDARD DETALS 2 PR 0
T [STARGARD DETRLS 3 o1
17__|Dw DETNLS T_| 24 R 01

DURAWEAVE FR FABRIC
OURAWEAVE FR FABRIC MEETS OR EXCEEDS THE FOLLOWNG TEST STANDARDS.

CAN / ULC-S102.2-H88
ASTM €

CAN / UUZ-S‘IOQ-MU
usC 31-1
FA-51403

ROQF PLAN NOTES:
UNLESS NOTED, USE 5/8° DI BOLTS FOR PURLIN TO TRUSS, CABLE OR ROD
BRACING TO TRUSS AND ANGLES TO TRUSS FOR AL CONNECTIONS.

CABLE / ROD AND PURLIN BRACING ARE AN INTEGRAL PART OF THE TRUSSES
STRUCTURAL SYSTEM AND SHOULD BE PROPERLY INSTALLED PRIOR TO ERECTION
OF FABRIC ROOF AND ENDWALL PANELS. REMOVAL OR ALTERATION OF ANY BRACING
WITHOUT PRIOR AUTHORIZATION IS PRCHIBITED.

ELEVATION NOTES:
HOLES REQUIRED IN HSS COLUMNS, HEADERS OR PURLINS FOR FRAMED OPENINGS,
DOOR OR WINDOW POST CONNECTION TO BE BY ERECTOR.

WALK DOOR, WINDOW AND FRAMED OPENING POSTS TO BE FIELD ANCHORED TO
CONCRETE WTH 1/2° DIA, "HILTI KWIK-BOLTS® OR SIMILAR.

PARTITION WALL NOTE:

FIELD INSTALLATION OF PARTITION WALL TO UNDERSIDE OF ANY ARCH FRAMING

MEMBERS MUST ALLOW FOR VERTICAL BULDING DEFLECTION. CONTACT COVER-ALL
BUILDING SYSTEMS FOR REQUIRED CLEARANCES.

MATERIAL STORAGE:

GALVANIZED, ALUMINIZED, AND COLORED MATERWALS ARE SUBJECT TO CORROSION
AND DlSCOLDRAﬂO N IF THEY ARE IMPROPERLY STORED. SHORT TERM JOB SITE
STORAGE OF STEEL COMPONENTS MAY SE TOLERATED, PROVIDED CARE IS TAKEN
TO KEEP THE MATERULS ORY AT ALL TIMES, WHEN TRUSSES ARE T0 BE STORED
CQUTDOORS, THEYSHOULDBEPMCEDATANANGLESUFHCIENI’TOPROHOTEGOOD
ORAINAGE. ' IN ADDITION, SEVERAL INCHES OF CLEARANCE MUST BE PROVICED
BETWEEN THE LOWER END AND THE GROUND TO ALLOW VENN.A‘HON

NOTE: COVER-ALL BUILINGS SYSTEMS WILL NOT BE HELD RESPONSIBLE FOR
MATERULS WHICH ARE IMPROPERLY PROTECTED AFTER DELMVERY,

COVER-ALL IS A CERTIFIED DVISION 2.1 MANUFACTURER OF TRUSSES. ALL WELDS
ARE COMPLETED IN SHOP AS PER CWB STANDARD CSA VI47I AND W39, THIS
CERTIFICATION HEEIS WITH AWS D1. 1, CRITERIA, AS PART OF QUR CWB
CERTIFICATION (AN )S‘ IDEPENDENT 3RD PARTY) TESTS OUR WELDERS AND
PROCEDURES AND AUDMTS CUR FACILITI

y DEALER: COVER—-ALL MANITOBA 2:;35 igRAAIV.VL‘N(B;U}EDIZZOZEgYEM%F ANy
HEADINGLEY, M8 REPRODUCTION IN WHOLE OR IN PART
custower: swoon sur stomee (e v s e (0 ) 1 5 o
BRANDON, MB SYSTEMS IS PROHIBITED : ™
; . DRAWN 8Y: DATE:
PROJECT:  SALT STORAGE BUILDING N MARKHAM | 24 APR Of UILDING SYSTEMS
BRANDCN, MB ANLLLAL 2201 SPEERS AVE, SASKATOON,  SASKATCHEWAN, S7L 5X6
: ' CHE% Qﬁ °§E‘, APRO, | -s0-sss-ir FAX: 1-308—864-1752
RELEASED NM 24 APR 01 PROJECT ID: ORDER ID: st > [ |HeBsiTe: woncowaraloat SR b
Rev. DESCRIPTION BY | DaTE GA3314/ENG456 N.T.S. COVERPAGE 10f12 | 1




ANCHCR BOLT = 85/8"

"2

\ .

7 ()

- 9 2"

| OUTSIDE
rk

4 13/167

AR S O O SO, 2 O 2 O, O 0 O O

- c C c c c B

DETAIL "A" BASE EL. 100'-0Q"

®

c c

A c c

L A T A I

ANCHOR BOLT = ¢5/8"

N

“u

o

m

- 1 13/16
4 13/16"

ANCHOR BOLT = ¢5/8"

]

0 =

B

ST

gz

T- 5w g
(éﬂ,.'_.’. 33‘5
! Il, Bgu
lo_T_r__.. e .9
1 [} oD‘g
| q:g A& =3 Z
| IE - (5;89
' "° | c5d
| | cnc‘-,-,
| | N
P & E
\ O >N
tb ) ._"’r\\
' 'n.'N

DETAIL "8" BASE EL. 100'-0" b ‘L
'3

.‘,‘_’ g B [o] (o [of [ c [o] [of c c c (o] [} c c [ [of c [of c [ c c A
> - o ® ,—
- - , . | -0 |
| oursipe[™ 2 TYP. -
- T . ‘ 230'-0"
-}———r’b-'\l:rO} @ ’ }
o
, —o ' o}
'
> boa
n 1 l ]
- I |
| |
: i :
, M
DETAL "C* BASE EL. 100'-0"
BASE PLATE. LAYOUT
DEALER: COVER-ALL MANITOBA A' THIS DRAWING :EDPTSOPERgMOSF Ay
COVER-ALL BUILDING SYSTEMS. ANY.
HEADINGLEY, MB . REPRODUCTION IN WHOLE OR IN PART
CUSTOMER: BRANDON. SALT STORAGE CONSENT OF: EXPRESSED WRITTEN @@[@Dﬂm
I BRANDON, MB ; SYSTEMS IS PROHIBITED ' -
: ORAWN BY: : v
PROJECT:  SALT STORAGE BUILDING N KA | 24 APR 01 UILDING SYSTEMS
- BRANDON, MB . 2201 SPEERS AVE,  SASKATOON, SASKATCHEWAN, S7L 5X6
- \ & s ’ CHECKED By D%E‘{ 5 PH: 1-306-864—4777 © FAX: 1-306-864-1752
\ : S  waww.coverail.net. —MAIL: L.net
1| RELEASED . NM 24 PR O R Lpp et PROJECT ID: ORDER 1D |l 2| ZSARRO(  weasie, mmsovarsio E-uAL: tonacovrsine
 REV. - DESCRIPTION . BY | DATE \m%wﬁa GA3314/ENG456 N.T.S. o BASE PLATE LAYOUT 20f12 1



SNOW AND WIND LOAD LIMITATIONS OF 55 FOOT TRUSS ARCH
STRUCTURES FOR LOW HUMAN OCCUPANCY APPLICATIONS FOR
EXPOSED LOCATIONS (Cw = 0.75 AS DEFINED BY CLAUSE 4.1.7 OF THE
BMHA 98) ‘

In the course of the design, an S-Frame analysis and component tests were
performed to develop allowable snow and wind load criteria. The summary of the
resuits of the analysis are shown in the table below:

MINIMUM

MEAN | ALLOWABLE
ALLOWABLE | HOURLY | GROUND ANCHOR POINT
SPACING| WIND WIND |SNOWLOAD| REQUIREMENTS
OF ARCH | PRESSURE |VELOCITY| (Ss+ Ss) (LBS)
(FT) (LBSIFT) | (MPH) | (LBSFT) [oRiz DowN] UP
10 10.0 60.9 50.0 2,800 | 3,760 | 2,450

These numbers are generated based on the Buildings and Mobile Homes Act 1998
(BMHA 98) for low human occupancy as defined by A-4.1.3.2.(7). The factors that
have been applied from these codes are as follows:

GENERAL: .

Y = 0.8  (importance factor)
WIND LOAD:

C.= 08 (exposure factor)

" Cy= 2.0 (gustfactor)

Cr= * (external pressure cosfficient)
SNOW LOAD:

Cw= 0.75 (wind exposure factor)

Cs= 0.80 (basic snow load factor)

C.= (60° - a) (slope factor)

45°.
C.= 1.00 (accumulation factor)

* C, values were developed based on a model developed by the University of
Saskatchewan to analyze an arch type storage unit. The values closely
follow those of Figure B-20 of the NBC 1995.

Because the BMHA 98 requires evaluation of each site and its surroundings, each
installation must be individually evaluated. This assessment must be completed by
a qualified engineer, including assurance that the building is not sheitered. As well,
the owner of the building must ensure adequate foundation restraint (including any
engineering required).

DRAWN BY: DATE:
PROJECT: gel/&LDSgSRAﬁBE BUILDING N _MARKHAM 24 APR 01 2201 SPEERS AVE,  SASKATCON, SASKATCHEWAN, S7L 5X8
' CHECW (] O? D{f:(m N PH: 1-306-864~4777 FAX: 1-306-664~1752
1 RELEASED NM 124 APR 01 PRO\JECT ID. ORDER ID: —_ O ‘ w:BLz:TE: www.coverall.net, E-MAIL:SHt:E(:hOCOV::'I;::t
REV. DESCRIPTION gy DATE GA3314/ENG456 . NJTs. DESIGN CRITERIA 3of12 1

COVER-ALL MANITOBA
HEADINGLEY, MB

: BRANDON SALT STORAGE
BRANDON, MB

THIS DRAWING IS PROPERTY OF

COVER-ALL BUILDING SYSTEMS. ANY
REPRODUCTION 'IN WHOLE OR IN PART

WITHOUT THE EXPRESSED WRITTEN
CONSENT OF COVER—-ALL BUILDING
SYSTEMS IS PROHIBITED

GCOVERAII

BUILDING SYSTEMS




|| BRACING LEGEND
}L X = CROSS PURLIN (3 HOLE)
E = END SUPPORT PURLIN (3 HOLE)
R = RIDGE PURLIN ’
T X S = PURLIN (2 HOLE)
|
S X
X | X
X | X
' E
) . ~ S
' E
S | S
| —
| » F'OUNDATION AND MOUNTING
: DESIGNED AND SUPPLIED
BY OTHERS |
i ’ ' U/S BASE EL: 100'-0"
PURLIN LAYOUT ' PURULN LAYOUT
FOR FOR
INTERIOR BAY BRACED BAYS
- : ' : _ EL: 94'=0"
52'=2 1/2" INSIDE TO INSIDE OF BASE PLATES
54'=7 1/2" OUT TO OUT OF BASE PLATES
54'-8 7/8" OUT TO OUT OF STEEL
DEALER; COVER-ALL MANITOBA THIS DRAWING IS PROPERTY OF
HEADINGLEY, MB COVER-ALL BUILDING SYSTEMS. ANY

REPRODUCTION IN WHOLE OR IN PART V
e e = - SNV EREA N
BRANDON, MB hin

i SYSTEMS IS PROHIBITED
1| PROJECT: SALT STORAGE BULLDING TN R |2 UILDING SYSTEMS
i} : BRANDON, MB N _MARKHAM 24 APR 01 2201 SPEERS AVE,  SASKATOON,  SASKATCHEWAN, S7L 5X6
: ' . C“EC%I_‘ D%TE‘ PH: 1-306-864-4777 FAX: 1-308-884-1752
RELEASED ' ' o NM [24 APR 01 PROJECT ID: ORDER ID: R | 2T AR ( w;f;ma: www.coverall.net, E—MAIL;HtE::thov;;:g.l::t
DESCRIPTION BY DATE ' GA3314/ENG456 ' N.T.S. BUILDING PROFILE 40f12 1




] o
S w0 e
~ @
@ TIAUS 40 1O OL 1IN0 @ 2 qumw1
4 ¢ O
_ .8/t 8-S w h3gs g
[+]
_ = W I e
, ¢ e zg8¢| &
< | o A
= : SoolEw
—J . y g W
Lo =} —H_ m &
:_
— 3 W
I = .
O d G =
~ [ & 2 o
o 2 . $ %
= o =2 A
5 % =" RZ| o
C @ el =
2O P @O s o HE
. I 1 -
@.l - x 13
I e SR
LS © 1 99t :Nnand FioM € &35
| 991 sNmand Ti0H T S JE|
/ |+ 4.8/¢ zNnynd 3000 @) s m m
‘mMT P o~ I
=¥ .99t snmund TI0H € ~NaF
%] 991 :Nn¥nd T0H T —
7 -2r. | .8/€ Z :Nnund 300 »% - -
) N Za, o S 0
@I T et S <_{G=Z
o .99°1 INNY¥Nd FI0H € w ZES el &
J99°L INFNd J10H Z oy =2 x
e 9/c z NrRind 39am8 ruSE3 | 3
AU 8 ENun , S .
\ s | .99°1L NMENd TI0H € r..hv:..mv.:&lA_D i o ai
e ] 2991 :NMMNG JTOH 2 SuInit [g Mq/v
\ L.t -8/¢ z :Nnund 3o0n fzTYra
L aza>I
. NI=X00 = 2
St 991 INMYNd FI0H € S5 uox =
Er-r] 2997t INMENd JI0H Z CBG o T N
N I S 4TI X 5=
R «B/€ T NNund 390m4 sa5£ouv | RW N..l
@- 2735w 5 <o .
Ti%4 0 .99°L NMuNd JI0H ¢ Spo2ug | =& L=
“eeal 9971 :NMMNG TIOH 2 SWM%MQ W =S 3
*... 1.8/¢€ T :NNund 390 = ES e
®,| A & S¥=85 |5 3]
.99°1L INMNd J0H €
. .99°1 :NM¥Nd J10H Z
.~ 1.8/¢ T :NNund 300
S .1 99t Nmund ToH € W .
2] L99L sNMMNd TIOH Z ) (& = .
» %'} .8/¢ 7 :NM¥Nd 300 < = = S
. [os] 9 =
@~ e o 2 =
2] .99t :NmNd TI0H € = 172) 3 o
Sovol L9971 tNMEnd TI0H M m LJ
%] .8/c z :Nrund 39a1y 2= Ho wao |O
®- ] 55 %= 2|5
-1 991 :Nmund Fi0M € =& . o2 .
Foe | 991 *NMENd TOH Z <d z=z oz
, < .8/8 T nmund 300 - D_.\. =z 88 »n8
.I Wi ) wa =ZZ = ©
© So] .99t tNnEnd FT0H € O ;e = &= =z = v
b~ .99°t :NnuNd JI0H T Hlox om om .. Muy
% i} .8/8 z :Nnynd 30any <C . Q2
@~ . = R >l € . |Z&
=) S\ | 9971 NMYNd FI0H € ..
S M i) -1 leg't :Nmund TI0H 2 ) W 2 9 i
i m o 210t .8/ T Nmyund 3001y L E & 1 5 uw
‘””T -5 (75] O O <«
L =% 1 _99'1 :NmuNd FTOM € L & ) W T O
L% | .99'L :NMund 310H Z Ol | & S a
5.+ ") .B/€ T :NMUNd 39aRy —
@l i w
T4l .99'1 NMNNd FI0M €
£.0+]  .99°L NM¥Nd F10H 2
. o] -8/ 2 Nmung 390
o] 99t Nmnd FioM €
2 .99°1L NMENd J10H Z
.8/E T NMuNd 3900y
o .99t g Ti0H €
] .99t :NmuNd TIOH T
> 70| -8/ T Nmund 300
=5l .99t NMENd TI0H ¢©
%, | 299t sNmung T0H
.71 .8/¢ T :NMynd 3001y
=21 .99t :Nrung FI0H €
2 o] .99°1 INMNNd JI0H Z
oo, | 8/C° T NMENd 3901y ¢ ,
21 a9t NMEnd TIOM © o
[” " -8 .99't NMYNd F10H T o w
x| .8/€ T :NmENg 30y =
AHT S o
/ 2or| .99t :Nmung TI0H £ p
"o | .99°L NM¥Nd F0H T =
e NMYNd Y
c / Y 8/€ Z NM¥nd 3sai 2|
D Te.{ .99°1 :NMMNd TIOH €
Ele .. | 2991 :nnund T0H 2
H | D, -8/€ z Nnend 390
\ / “0r] .99t NMMNd TIOM €
S .99t sNmundg oM
\ ~ | -8/ Z :Nrund 3000
- - -
Tl - 2.0 .99°t NMENg TOH ¢
21 w0 ] 997t sNmang ToM
@I ] t | - -°- 7} .8/¢ T :Nmund 39am
1331S 40
N0 01 1no 91/L G-.0z
@ 8/t 9—46 @ W
g &
& a
5 &
=
=z 30
0
O =5
— ol
<C 7
> o a
] Z o
_ A
Lo 5
M &
- o
_ T331S 40 N0 OL 1IN0 Ll
@ 8/L 8-S @ - — m




1]6—4 106‘—4”’
{ [" .y ZERO e e — o : l—— ZERO
\. \ '
I e \I19/
/FD
(FO
&
- in ’:_ ‘{ N — :'__
21 VIEW FROM INSIDE OF COVER SN VIEW FROM INSIDE OF COVER mle ]
& g 3 & 8 %
s pe N
& ! = T
7 M 1 @ bel
| 7
T - - ZERO | n - ‘ 260
e — ————— T f '
?
EAER  COTL OB e SR |
, HEAD'NGLEY' M8 R%FI‘_‘RODTUCTIONE IN WHOLE OR IN PART :
: OUT TH RE
|_CUSTOMER: BRANDON SALT STORAGE CONSENT OF GOVER-aLL. BULOING @@@Dﬂm
BRANDON, MB SYSTEMS IS PROHIBITED
LOCATION:  SALT STORAGE BUILDING - ORAWN &Y: . DAT; APR O UILDING SYSTEMS|
BRANDON, MB —-N MARKHAM 2201 SPEERS AVE,  SASKATOON, SASKATCHEWAN, S7L 5X6
' CHECKED BY: DATE: PH: 1-306-864~4777 FAX: 1-306—864~5757
1 RELEASED NM |24 APR 01 PROJECT ?MLE/]&- / ‘Q.RZDER{;%ORO( W:?;m: www.coverall.net, E—Ml%;:h@cov:;&::t
REV. DESCRIPTION By | oaE GA3314/ENG456 N.T.S. FABRIC DETAILS 6of12 | 1




ANCHCR

BOLT = 85/8"

NOTE: VERTICAL COMPONENTS LABELLED [MARKJ |COMPONENTS WEIGHT
o/s I/S FROM GROUND UP EC-281]81 + 1l + 110 + E3 + M9 114.14] |
EC-199]B1 + 112 + E3 + M9 83.58|1
w EC-157|(2) M4 + 11 + 111 + E3 + M3 67.66] | -
-} HZ=120]X1_+ H4 15.93] |
g , RZ=111]X1_+ H% 15.93
s 121 "o 7T “} ) HZ-085]|X! + H6 11.97
-~ ! HZ=066]X1_+ H13 10.68
p e s St Q> DH-221]D16 77.16
/s OUTSIDE
—— —— 1 13/16" HZ-111 HZ-111
413/16" T
e 15 1/4" - !
DETAIL "A” BASE EL. 100'-0"
ANCHOR BOLT = ¢5/8" HZ‘120 HZ"‘2O
/S o/s )
! - ,
w 0 ‘m H
Ll &8/
o e e 2t e et e o — DH- d 2
T C[ 221 il 5
L\ U T’ ‘ﬁl D ©
N S TYP
OUTSIDE \E10/ 09 :
1 13/18" — HZ-66 HZ-120 HZ-120 HZ-66
413/16" ; =
, » v DT
15 1/4 05 TYP.
DETAIL "B" BASE EL. 100'-0"
ANCHOR BOLT = 95/8" *
FOT : . |
@) o™ || D, ) o i all >
" oy @ y L WP
4 2 : & © & N AL
< T 1 [ | Q
() — w -
Y 1N Hz-85 &l Hz-120 2 Qptig=120 :ﬁ_—:“z 3
] | ™ —_— : —
Q]'o| Yy I R : oL av 4, 4 e R .
! ] N : : M : .« R : - 4 ¢
1/S F o] | - 44 . - ; P .o ' -4 4
Oy 6'-0" WALL A 2 L R T : e o 4, »
@ ‘:,*z.:l"—'" = DESIGNED & . ... & . a 7 g “ 4 . o ' |
O/S q_ SUPPLIED : PO ' ... " .« 4" ‘4' © 4‘ 4 ) B ~' ‘ . & (el
: BY OTHERS o 4, e ) < , 4 . Y ~
] o o Lo i e a4 AP
11/4",-—]—«- l e 4 4 : 3 : S L4 e s 4
- f—21/2
DETAL "D* _BASE EL. 100'-0"
-—8'-1 15/16" | 10'-0" g'-2 1/2" e 9'-2 1/2" . 10'=0" | 8'=1 15/16" —f
54'-8 7/8" OUT TO OUT OF STEEL
, D - D D D B
I/S = INSIDE OF BUILDING. In - - 8 _ - - 8B - - - - g - - -8 _ - - a2
0/S = OUTSIDE OF BUILDING. -
DEALER: COVER-ALL MANITOBA THIS DRAWING IS PROPERTY OF
COVER—ALL BUILDING SYSTEMS. ANY
, HEADINGLEY, M8 REPRODUCTION IN WHOLE OR IN PART
WITHOUT THE EXPRESSED WRITTEN
CUSTOMER: BRANDON SALT STORAGE CONSENT OF COVER—ALL BUILDING @@@Dﬁm
BRANDON, MB SYSTEMS IS PROHIBITED i
DRAWN BY: DATE:
PROJECT:  SALT STORAGE BUILDING N MARKHAM | 24 APR 01 UILDING SYSTEMS
BRANDON, MB - 2201 SPEERS AVE,  SASKATOON,  SASKATCHEWAN, S7L 5X6
K ‘ ' CHECKERBY: D‘%& o PH: 1-306-664—4777 FAX: 1-306-684—1752
3 : . .net, E-MAIL: techO Il.net
1| RELEASED NM [24 APR 01 PROJECT ID: ORDER ID: -, 1 U0, LE=SIEAAR R SRS
REV. DESCRIPTION 8Y | DATE GA3314/ENG456 N.T.S. ENDWALL — GRIDLINE 1 70f12 1




ANCHOR BOLT = 85/8" » NOTE: VERTICAL COMPONENTS LABELLED [MARK# [COMPONENTS WEIGHT
o/s@ /s : : : » : FROM GROUND UP EC-281]B1 + 1l + 110 + E3 + M9 114.14
' EC—199|BJ + 112 + E3 + M3 83.58
EC~157](2) M4 + 11 + 111 + E3 + M3 67.66
, HZ=120]X1 + R4 15.93
“‘gl HZ=111]X1 + H4 15.93
18, —————————— - d HZ-085|X! + H6 11.97
A —o o ) | HZ-066]X1 + H13 10.68
P Syl Qo A : - pu-2211018 L
o/s QUTSIDE ¥ :
—]  |—t— 1 13/16" - HZ-111 HZ-111
=~
4 13/16"
——— 15 1/4"
DETAIL "A" BASE EL. 100'-0" _
ANCHOR BOLT = #5/8" HZ-120 HZ-120
I/s o/s ‘ - : ' ) ; 4 ' Bi T )
, “ Bl /FOT |
. 0 \E08/
__________ — - [re} ]
{,_. 5 . DH-221 b .O!
~~ . 0
Fromyls B~ @
OUTSIDE 4 @ W M -
1 13/16" — HZ-66 HZ-120 - HZ-120 HZ-66
4 13/18" : L: il \ B g
15 1/4" o5 vp,
DETAIL "B" BASE EL. 100'-0" A
ANCHCR BOLT = 85/8" ¥
. |
WP go o . -
- 3 3 o 2 T[S
r7< T ‘ ! '
\ - Wiy HZ-85
L AL Hz-85 Q|| Hz-120 84: QpHZ=120
| | ~ . T - - - — - av . 4 7 - § 4 o ] .
o|ol S r « R AT T T ) . P
I I . e : .4 4 4
1/S o] - e 4 44 . . ‘ R . . N a4 - R
LA 6 —-0" WALL ‘. T B . L ‘ . A T A < 4 ©
@ »:.1-_:_1—— S DESIGNED & T N \ R A PR -
o/S q_ . SUPPLIED . o o« T L 5 ’ e d. © P ) 'd.‘ . Y . y ;4
| BY OTHERS 7L T s .
a : 4 e . e 4 . :
1‘/4""“}"- l « 4 "4- . : . 4 g 4 4 “ o
— =212
DETAIL "D" " BASE EL. 100'-0" ,
——8'-1 15/16" | 10'=0" | 9'-2 1/2" —— e 9'-2 1/2" | 10'=0" | 8'=1 15/16" —f
54'-8 7/8" OUT TO OUT OF STEEL
A D D D D B
I/S = INSIDE OF BUILDING. . et - . - - g - - - - - - 2] - - . - - a2
0/S = OUTSIDE OF BUILDING. ;
DEALER: COVER-ALL MANITOBA THIS DRAWING IS PROPERTY OF
' COVER-ALL BUILDING SYSTEMS. ANY .
: HEADINGLH, MB REPRODUCTION IN WHOLE OR IN PART
. WITHOUT THE EXPRESSED WRITTEN
-CUSTOMER: BRANDON SALT STORAGE CONSENT OF COVER-ALL BUILDING @@ME@ Dﬂ;ﬁ
~ ~ BRANDON, MB SYSTEMS IS PROHIBITED
DRAWN BY: DATE:
PROJECT:  SALT STORAGE BUILDING N MARKHAM -24 APR.O1 U ﬂ L @ 0 M @ g Vg T E M §
BRANDON, MB 2201 SPEERS AVE,  SASKATOON,  SASKATCHEWAN, S7L 5X6.
. . ' CHECKED BY: 0"725‘ 5 PH: 1-306-864-4777 FAX: 1-306-664-1752
. » : /m_ r ‘7’% EBSITE: . all.net, E=MAIL: tech©coverall.nat
1 | RELEASED ~ . | NM [24 APR 01 PROJECT ID: ORDER ID: s Py [ wFlLE: s SHEET | REVISION
REV. DESCRIPTION B | oATE GA3314/ENG456 N.T.S. ENDWALL - GRIDLINE 24 8of12 | 1




5/8" x 2" BOLTS TYP.
TYPICAL TRUSS-\ \

. : TYPICAL TRUSS
TAB WEB PLATE 0/_\/\/55 PLATE

o] -
L S 3/8" x 2" BOLTS —~ W Q 5/8" x 2" BOLTS TYP.
aga .
/ \ SADDLE BRACKET __[sl] gm
"/ TAB °s =2 HOLE PURLIN
7/16" x 3 1/2" BOLT DUCT TAPE_CONN. ONCE PURLIN IS ATTACHED
/FD \COUPLER CONNECTION /FD\WEB PLATE & SADDLE BRACKET /FD\2-HOLE PURLIN
T01/DETAIL \J04/CONNECTION AT END ARCH 707/ CONNECTION
DUCT TAPE WRAPPED . DUCT TAPE CONN. ONCE PURLIN IS ATTACHED
AROUND TRUSS _TYP.‘\ AB WEB PLATE | A /~RIDGE PURLIN .
. Il 3/8" x 2" BOLTS i e
5, . ° | BRIDGE PLATE 1] »5/8" x 2" BOLTS TYP. 5@
-] ] [¢) Q o)
~— PURLIN BRACKET 53 o8
o o O+ Lod——C _S
DUCT TAPE_CONN. ONCE PURLIN IS ATTACHED
/FD\DUCT TAPE APPLICATION /FD\WEB PLATE & PURLIN BRACKET - /FD \RIDGE PURLIN WEB
\J02/TO PROTECT FABRIC \J05/CONNECTION AT INTERIOR ARCH 708/ CONNECTION
BASE PLATE
5/8”" x 2" BOLT /~ RIDGE PURLIN —
FOR GROUND BOOT ONLY g=
) =
5/8" x 2" BOLTS TYP. £ o
5/8" x 2" BOLTS 3
LASHING WINCH ~_ -
| PURLIN BRACKET | RIDGE PURLIN
(FD\LASHING WINCH ATTACHMENT /FD\PURLIN BRACKET FD \RIDGE PURLIN COUPLER
\J03/FOR 6ROUND MOUNT BLDG: 706,/ CONNECTION TO9/CONNECTION
DEALER: COVER—-ALL MANITOBA THIS DRAWING IS PROPERTY OF
HEADINGLEY, M8 REPRODUGTION N WHOLE OR N PART »
| CUSTOMER: BRANDON SALT STORAGE CONSENT OF GOVER-ALL BUILOIG @ @E Dﬁ@,m
BRANDON, MB SYSTEMS IS PROHIBITED
DRAWN BY: DATE: )
PROJECT:  SALT STORAGE BUILDING N MARKHAM 24 APR Q1 1%5[;5& AVE@ ﬂs@g\rg«. ggi{;\ggy:u@sl}tﬁsxsg
. BRANDON, MB | CHECKED_BY; D‘é& PH: 1-306-864—4777 FAX: 1-308—664—1752
1 RELEASED E NM 124 APR 01 PROJUECT ID: ORDER 1ID: SCALE‘/ B L{N’ﬂ()( W;TESITE www.coverall.net, E-MAIL.;H';eE:hOCOV:;:I;:t
REV. DESCRIPTION gy | DATE GA3314 /ENG456 N.T.S. STANDARD DETAILS 1 9of12 1




5/8" x

2” BOLTS TYP.
3/8" x 3 1/2" BOLT

3 HOLE PURLIN

/FD\ BRACING PURLIN
T10/CONNECTION

5/8" x 2" BOLTS TYP.

DUCT TAPE CONN. ONCE PURLIN IS ATTACHED/
()

\—2 HOLE PURLIN
DUCT TAPE_CONN. ONCE PURLIN IS ATTACHED

/FD \END SUPPORT PURLIN
\J11/WEB CONNECTION

DUCT TAPE CONN. ONCE PURLIN IS ATTACHED
5/8" x 2" BOLTS TYP.

3 HOLE PURLIN

DUCT TAPE_CONN. ONCE PURLIN IS ATTACHED
/FD \END SUPPORT BRACE
\J12/PURLIN AT WEB CONN.

| OUTSIDE l ‘ OUTSIDE ‘
OF BLDG. OF BLDG.

‘ OUTSIDE ‘
OF BLDG.

1)

1) 5/8” x 2" BOLT
1) 5/8" NUT
2) 5/8” WASHERS

:?
.U]

/— CROSS CABLE

FOR BUILDINGS WITHOUT GROUND BOOT,

FASTENING TUBE —\

lOUTSlDE OF BLDG. l

SWAGED COUPLER

Q | !
L | P

1) TEK SCREW 1/4"-14 x 3/4"JD

FD \FASTENING TUBE SPLICE
T15/CONNECTION
CUT OFF SWAGED END

FASTENING TUBE —\

& END PLUG
'& ID/:_

USE ANCHOR BOLT AT BASE CONNECTION IN LIEU OF 5/8" x 2" BOLT

/FD\CROSS CABLE CONNECTION
\J13/FOR @3/16" CABLES

FASTENING TUBE w/ SWAGED END

m—r— : R

2 ' L

g

Q l g

1) TEK SCREW 1/4"-14 x 3/4"—/0

/FD \FASTENING TUBE
T14,/CONNECTION

OR
FASTENING TUBE END PLUG
& f—

FD \FASTENING TUBE CAP

NI,
PVC TUBE'—\ .
|

———

&

% 8
GLUE BOTH ENDS

. 1 3

FD

7/

PVC TUBE CONNECTION

DEALER: COVER-ALL MANITOBA E'gssgf:mNgU:EDméozsg‘éM%F ar | : ‘
} HEADINGLEY, MB REPRooucT:HgNE IN WHOLE OR iré PART - /
THOUT XPRESSED WRITTI
CUSTOMER: BRANDON SALT STORAGE CONSENT OF COVERoALL SUILOING @@ﬂ@ DA:M,,
_ BRANDON, MB SYSTEMS IS PROHIBITED
. DRAWN BY: DATE:  BUILDING SYSTEMS
PROJECT: ggl/.\Tl\lDSgSR?AGBE BUILDING LN MARKHAM | 24 APR 01 o—orens e, — Shoaroon,— SASKATCREWAN, S7L 5%6
' CHECKER,BY: 9%5‘ A PH: 1-306-664-4777 FAX: 1-3‘28—654;1732
[ T WWW, .net, E—MAIL: t covarail.net .
1| RELEASED . NM [24 APR 01 PROJECT ID: ORDER ID: N 21 ¢4 /PR O e covrdlaot ST
| REV. DESCRIPTION B | oAt GA3314/ENG456 ‘ N.T.S. STANDARD DETAILS 2 100f12| 1




BELTING

. TRUSS
PVC POCKET
COVER , —
TYPICAL TRUSS TENSION PQOCKET
END FLAP COVER
/‘ FOR ENDWALL
)"Vvvv
2SESIRESITIRINEN:
LRI RN ,
N NN AIATAITAY J
@5&5&5&&:&5&& ........ Y
PVC TUBE NG
LASHING
WINCH TYPICAL TRUSS
CABLE ASS'Y \

/ ' ‘ | / A 'CABLE SADDLE

/FD\PVC TUBE CONNECTION /FD \FASTENING TUBE CONNECTION 1) 3/8" x 3 1/2" 80T
718/TO BUILDING T19/T0 BUILDING 2) TEK SCREW 1/4"=14 x 3/4"
LASHING STRAP , ‘ FD \ARCH CABLE CONNECTION
LASHING WINCH ' T22/TO BUILDING - @5/16" CABLE
—~ — ] | TYPICAL TRUSS
END FLAP BELTING -~ LASHING STRAP
LASHING WINCH
LASHING WINCH - e
s OR RATCHET . ] |~ END FLAP BELTING
191 : 4
N_5/8" x 2" BOLT TYP. LASHING WINCH
y - 4/~ OR RATCHET
BUILDING JOINER BRACKET 3 E
~ ATTACH TO POST USING 5/8" REDI-ROD ' — \_ N_5/8" x 2" BOLT TYP
POST (BY OTHERS) BUILDING JOINER BRACKET .
/FD\JOINER BRACKET CONNECTIONS. /FD\JOINER BRACKET CONNECTIONS
\720/TO WALL MOUNT BUILDING | - \J21/TO GROUND MOUNT BUILDING
DEALER:  COVER-ALL MANITOBA THS DRAMING IS PROPERTY OF
. HEAD'NGLEY' MB REPRODUCTION: IN WHOLE OR I.N PART /
EEsC—— N GO VERPANL
— BRANDON, MB SYSTEMS IS PROHIBITED ——/ ™
PROJECT:  SALT STORAGE BUILDING N ARk | 5 APR 01 UILDING SYSTEMS
BRANDON, MB AL i 2201 SPEERS AVE,  SASKATOON,  SASKATCHEWAN, S7L 5X6
' CHECKER By: Dﬁi:/ 00 PH: 1-308-664~4777 FAX: 1-306-664-1752
. www.coverall.net, E~MAIL: tech@coverall.net
1 | RELEASED NM |24 APR 01 PROJECT ID: ORDER ID: B T APLO[ | |wesse e e
REV., DESCRIPTION _ By | DATE GA3314/ENG456 : NT.S. . : STANDARD DETAILS 3 11of12] 1




VERTICAL EXTENSION
FIELD DRILL 1/2" HOLES

[ 1]

BOLTS TYP.

hY

TYPICAL TRUSS

TAS EXTENSION BRACKET A—‘=

\J-—’

/FDT\VERTICAL INSERT CONNECTION
\EO3/TO VERTICAL EXTENSION

/— VERTICAL INSERT

/— VERTICAL EXTENSION

TYPICAL TRUSS
VERTICAL INSERT

e

4".]— 2 1/2"

SECTION A-A

1) 5/8" x 4" BOLT
TAS EXTENSION BRACKET

2) 5/8" x 2" BOLTS
w/ WASHERS

[l

| |~ VERTICAL LADDER 8ASE |~ VERTICAL EXTENSION

I l .

A A
/FDT\ TYPICAL WIND POST

L4 1) 7/16" x 3 1/2" CARRIAGE

\EO1/ASSEMBLY \E04/TO VERTICAL EXTENSION

TYPICAL TRUSS

VERTICAL INSERT

FIELD DRILL 1/2" HOLES
2) 7/16" x 3 1/2" CARRIAGE
BOLTS TYP. AT 90" TO EACH OTHER

HORIZONTAL EXTENSION OR
HORIZONTAL SUPPORT

FIELD DRILL 1/2" HOLES

VERTICAL LADDER BASE . .
7/16" x 3 1/2" CARRIAGE BOLT TYP.

FDT\LADDER BASE CONNECTION
E02/TO VERTICAL INSERT

/FDT\HORIZONTAL EXTENSION

_ /FDT\EXTENSION BRACKET CONNECTION

:

TYPICAL WIND POST—\

HORIZONTAL EXTENSION OR
HORIZONTAL SUPPORT] —

‘m / TYPICAL TRUSS
TAS EXTENSION BRACKET

/- VERTICAL EXTENSION

L

FIELD DRILL 1/2" HOLES /L |
7/16" x 3 1/2" CARRIAGE BOLT TYP.~ “TS

\

HORIZONTAL EXTENSION OR
HORIZONTAL 'SUPPORT

FIELD DRILL 1/2" HOLES
7/18" x 3 1/2" CARRIAGE BOLT TYP.

(FDT\HORIZONTAL EXTENSION
\EOE/CONNECTIONS TO WIND POST

HORIZONTAL EXTENSION

5" MIN.—|

HORIZONTAL SUPPORT -\

E‘ . o)

FIELD ORILL 1/2" HOLES.
7/16" x 2 1/2" CARRIAGE BOLT TYP.

(FDT\HORIZONTAL EXTENSION CONNECTION
\E07/TO HORIZONTAL SUPPORT

| /— VERTICAL INSERT

—
-
-’
o’

—

e

TYPICAL WIND POST

<

HEADER INSERT  SHOE

2) PURLIN BRACKETS

5/8" x 2" BOLT TYP.
c/w 2) 5/8" WASHERS

N HEADER ASS'Y

R

/FDT\ TYPICAL WIND POST \
\E08/ASSEMBLY ABOVE HEADER { /

HEADER ASS'Y

FDT\HEADER CONNECTION
\E10/TO WIND POST

VERTICAL INSERT

FIELD ORILL 1/2" HOLES
1) 7/16" x 3 1/2" CARRIAGE
BOLTS TYP.

HEADER INSERT SHOE

FIELD ORILL 1/2" HOLES
2) 7/16" x 3 1/2" CARRIAGE BOLTS TYP,

HEADER ASS'Y

/FDT\HEADER INSERT SHOE
\EOS/CONNECTION

\EOS/CONNECTION TO TRUSS
DEALER:  COVER-ALL MANITOBA 2'3'35 DRAWNG IS PROPERTY OF :
- SYSTEMS. ANY
HEADINGLEY, M8 RETPRODUCTION IN WHOLE OR IN PART '
T
CUSTOMER: BRANDON SALT STORAGE AONSENT OF CoURESSED. WRITTEN @@@Dﬂ@m
BRANDON, MB SYSTEMS IS PROHIBITED
—— ORAWN BY: DATE:
PROJECT:  SALT STORAGE BUILDING N MARKHAM | 24 APR O1 UILDING SYSTEMS|
BRANDON, MB T L b 2201 SPEERS AVE,  SASKATOON,  SASKATCHEWAN, S7L 5X6
'l t y ' CHECKED By: °A275= 2 6 PH: 1-306-664-4777 FAX: 1-305-554;1732
-~ 4 u ~r— s ° - : -] . -
s o 4, ED. Q ‘ a m ;" NM 24 APR 01 PROJECT ID: ORDER ID: - A Y/V { w;?:ITE www.coverall.net, 3 MNLS,—,:—‘;“ cov::m::
‘ ;R ' DESCRIPTION N BY | oAt GA3314/ENG456 N.T.S. ' END DETAILS 12012 1

T —, i



